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4.2
4.2.1
4.2.1(a)

(T60A20)
4.1

30um

4.1 (x 1950)
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4.2.2(b)

mg/m3
(K )
NW-354
Gilian AirCon2 NW-354 LD-3K2
20 NW-354
(T60A20)
NW-354 mg L/min mg/ms3
LD-3K2 cpm
(K )
(K ) 4.1
cpm min
4.1
min 20
count 19846
cpm 992.3
( ) mg | 17.99
( ) mg | 18.19
mg 0.20
L/min 20
mg/ms3 0.5
K mg/m3/cpm | 0.0005
K 0.0005
LD-3K2

4.3
4.3.1

1.2m/s 0.5 m/s

4.3.2
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1.2m/s 0.5 m/s

3cm

30

>

e BN -, .. ,.,,*?A.n i —— . |

4.2

5cm

¢ iy 5cm
— o 45cm
4.2
4.3.3
1.2(m 4.2
4.2 1.2 m/s
cm m/s
0 1.21 1.0
3 0.58 0.5
6 0.36 0.3
9 0.24 0.2
12 0.17 0.1
15 0.15 0.1
1.2m/s 0.5 m/s
4.3 v(m/s)
vo(m/s) 4.4
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—o— B D HEEE 1.2m/s
—a-BOEE#E LIS ||
—a— B AEEE 1.0ms ||
——B O EE# 0.9m/

—i— B D EEE 0.8m/s N

= [
B 06 7 —o—-BHOEEE 0. Tm/s ]
04 —— B OE i 0.6m/s u
— B A 0.5m/s
0.2
0
0 2 [ 8 10 12 14 16
B N&E,6HOERE cm
4.3
1.2
—o— 3 O AE 1.2m/s
Lo —m- O EEE L1m/s |
e D EEGE 1.1m/s
\g 08 — B D RE 0.9m/s ||
ﬁz —— B O TR EIE 0.8m/s
B 0.6 n
1S —o— T O EE 0. Tm/s
§ 0.4 e B D E AR 0.6m/s
. — BIOEAE0sms | |
0.2
0.0
0 2 6 8 10 12 14 16
B O @E»HOERE cm
4.4
1.2 m
4.3
4.3 1.2 m/s
cm m/s
0 1.21 1.0
3 0.58 0.5
6 0.37 0.3
9 0.26 0.2
12 0.19 0.2
15 0.16 0.1
1.2m/s 0.5 m/s
4.5 v(m/s)
vo(m/s) 4.6
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—a— [ O EEE 1.2m/s

- FOEEELIms ||
——BEOEAM 1.0m/s ||

\\\ e B T B 0.9m5
§ 0.8 ) .
p —— B O E L 0.8m/s
g 0.6 7 ——HOEREO. Tms | |
——BE O E A 0.6m/s
o — B D E A 0.5m/s ||
0.2
]
0 2 G 8 10 12 14 16
B 0@ S OEHE cm
4.5
1.2
—— B A 1.2m/s
o —a— B O EEE 11w/ | |
i B O EEE 1.0m/s
E e ——BEOEEE 0.0m/s | |
E
ig —— B O AR 0.8m/s
0.6 ]
E —o—-BOE A 0.7Tm/s
& —— B O EHE 0.6m/s
0.4 ]
—— B DA FLE 0.5m/s
0.2
0.0
0 2 [ 8 10 12 14 16
M O@E»HOEE cn
4.6
4.3.4
1.2(m
4.4 1.2 m/s
cm m/s
0 1.19 1.0
5 0.81 0.7
10 0.58 0.5
15 0.42 0.4
20 0.27 0.2
25 0.19 0.2
30 0.17 0.1
35 0.14 0.1
40 0.12 0.1
45 0.11 0.1
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1.2m/s 0.5 m/s
4.7 v(m/s)
vo(m/s) 4.8

—o— B AE A 1.2m/s
1.2

—m— B AE A L. 1m/s
—a— B O AGE 1.0m/s

1 H
\\\ e D LR 0.9m07s
0.8

m
;; —— B OEAE 0.8m/s ||
¢
B 06 - —o— B EEE 0.7Tm/s ||
e B O AL HLGE 0.6 /s
o4 — B OEEE 0.5ms ||
0.2
0
0 10 20 30 40 50
B O @E» s 0B cm
4.7
1.2
—o— B EEE 1.2m/s
1.0 o

- OE RS 1.1m/s
e B D R 1.0m/s

9 08 |
> ——FOERE 0.9m/s
?% 0.6 ——BIOEEE 0.8m/s | |
K —o—BAOERE 0. Tm/s
Ho4 e B O R L 0.6m/s |

— B A EE 0.5m/s

0.0
0 10 20 30 40 50

MOE»HOEME cm

4.8

1.2 m s

4.5
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4.5 1.2 m/s

cm m/s
0 1.19 1.0
5 0.77 0.6
10 0.59 0.5
15 0.44 0.4
20 0.33 0.3
25 0.29 0.2
30 0.2 0.2
35 0.15 0.1
40 0.14 0.1
45 0.12 0.1
1.2m/s 0.5 m/s
4.9 v(m/s)
vo(m/s) 4.10
14
1.2 —.—F’EDEE[&ELZHI/Si

—m-FEOEEE 1.1m/s

! & B OB R 1.0m/s
08 \ —— B A E A 0.9m/s

w
;; ¢ —— B T EJEIE 0.8m/s
B 06 - —o—BIOEEE 0.7Tm/s ||
—— B A RE 0.6m/s
0.4
— BOEEE 05w | |
0.2
0
0 10 20 30 40 50
B O@E» s OEE cm
4.9
1.2
—o— B AT AE 1.2m/s
Lo —a— PO EE 1 1m/s ||
—— B O JAE 1.0m/s
o 0.8 H
% — B B 0.9m/s
EO.G i B U R 0.8m1/5 |
§ —o— B HTHELIE 0.7m/s
& 0.4 ——FOEEH0.6mfs | |
B O EIE 0.5m /s
0.2
0.0
0 10 20 30 10 50

B O&EH»SHOEM cm

4.10
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4.3.5

4.3 4.5 4.7 4.9
1.2ml/s
0.5m/s
4.4 4.6 4.8 4.10
v(m/s) vo(m/s)
x(cm) w(cm)
4.11
1.2 1.2
1.0 1.0
[=]
=
+0.8 508
ﬁo_e go.(s
I I
0.4 04
5 E
0.2 0.2
0.0 0.0
0 05 1 15 i 0 05 1 15 2
BH e B DM AOTHERE x/w B T > DR OTRERE /w
1.2 1.2
1.0 1.0
=] =]
= '3
=0.8 = 0.8
EO.G g 0.6
R R
££0.4 04
E B
0.2 0.2
0.0 0.0
0 05 1 15 2 0 05 1 15 2
B OmE» s oK TlibE x/w B i 5 O THE x/w
4.11
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4.11

4.4.1

1.2m/s~0.5m/s

4.4.2
1.2m/s 0.5 m/s
LD-3K2 3
4.12 4.13 4,12 4,12
4.14 4.15
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4.12

4.13

4.14
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4.15

4.14 4.15

4.4.3

X (cm)

4.15

4.16
Y (cm)

10cm

(X Y)

4.16
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) (0= |
(‘/ \(30-15) — = N
(30.15) = 7

\(45:18)- ~

4.17

1.5
1.0 1.5

4.16 4.17 (10-0) (10-5) (15-0) (15-5)
(30-0) (30-15) (45-0) (45-15)

4.17 lcm
12L >3 1L/min
(4.3) 0.2m/s
(m/s)
(L/min) {60x 1000x ( (m))2zx 1t } (4.3)

1 {60x 1000x (0.01/2)2x m} 0.2
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4.18

4.4.4
4.4.3

(10-0) (20-5) (15-0)
(10-0) 4.6
4.6 (10-0)
m/s m/s
0.5 0.11 0.13
0.6 0.11 0.14
0.7 0.13 0.14
0.8 0.15 0.17
0.9 0.15 0.18
1 0.18 0.20
1.1 0.18 0.21
1.2 0.19 0.23
4.19 4.22
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4.2

(15-5)



